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1. Hermitian operators
1. Generate Krylov subspace basis members
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To prove that the matrix elements®fin they) basis form a tridiagonal matrix, consider Eq. (J) fc
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use hermitian property: O, = Oy ( = 0 from Eq. (K)).

Eqg. (A) isthen,
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2. Non-her mitian operator s

1. Generate Krylov subspace basis members and their duals
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2. Impose bi-orthogonality of subspace basis
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4.Choosei = n+1
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5. Insert Eqgs. (G1), (G2) and (1), (12) back into Egs. (D1), (D2)
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To prove that the matrix elements of O in the 3 basis and of O in the dual of the ¢ basis form
tridiagonal matrices, consider Egs. (J1), (J2) for matrix elements (i, n),
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